AKrERER XE-Ya)AL

~Ti& (mm)

BEg g?é%% FL (A FL (HEH) EE (fmD i)

1 Al Rig=E 12 12|1F: RIE= 60cm x 5°°m0,335§'30x’ﬁ3
1 A2 BE= 40 24 64|1F: BB = 1RBRHE . BAR—IL10

1 A3 BRE=E 10 6 16|1F: R EE BAR—IL3

1 A4 ENRI= 18 18|1F: ENRI=

1 A5 EHBE 10 10[1F: BHEXZIEE BrR—IL5

1 A7 CR 3% 0|2F: 3% CR1 =R

1 A8 CR 3% 0|2F:34CR2 AR 1

2 B1 VEDY 42 42|12F HFXLZEME

2 B3 CR 2% 0|2F:34CR3 R T

2 B4 CR 24 0|2F: 14ECR3 R 1

2 B6 230 5 5|12F XL HME

2 B7 CRI14E 0|2F : 14ECRT AT

2 B8 CR14E 0|2F: 14ECR2 R

3 C3 1R E 12 12|2F  E1 R E EER—IL10

3 c4 HE= 60 60[2F:ES I

i El e o| 1P mamsgs | BT _IVE RIRHOIR
1 F1 SHEE 48 48(1F A= HRERzR6. L2

1 F3 AIZE 12 12[1F: BT =

2 G1 EME-ERE O|1F: EfiiEfH= E&R—JL20




